LLlecTbaecAT BOCbMOM YpPOK

68

I'pammaruka: 68.A: Héxomy, Hérne, etc.
68.5: Ectb KoMy, IJie, etc.

A nyywe octaHycb AomMma n nomoto ronosy [ would rather stay home and wash my hair

Taun 1 | Ons, mOIUIA ¢ HAMU Ha TAHIBI. Olga, come to the dance with us.

Oas 2 | Mue Héxorna. S nOo/KHA 3aHUMATHCH. I can’t (because I don’t have the time). I have to
study.

Taus 3 | Kakas To1 3anyaa! Thl HUKOTIA HUKY1A HE You're such a bore! You never go anywhere. You

5 | BpéMeHM OTIBIXATh.

4 | xomgums. Hembss Tak. Hamo xoTh Bpéms oT

can’'t live like that. You have to relax, if only from
time to time.

Ousn 6
7 | 0 4eM TOBOPHTH C ATOH MYOJIUKOIA.

Jla mHE TaM HE ¢ KeMm OyaeT TaHIeBATh. MHe HE

There won't be anyone there for me to dance with
anyway. There’s nothing for me to talk about with
the people who are going to be there.

Taunn 8 | O uém TBI TOBOpHIIB? Tam OyzmeT ¢ kem

9 | obmatecs. Ilo-mOemy, npuaT AHprolIa.

What are you talking about? There will be people
there to hang out with. I think Andrusha is going to
be there.

Oan 10

®y! On tak6ii nporusHbid. Her yik, craci6o.
11 [ A ay4ie octaHych 10Ma U MOMOIO rOJI0BY.

Yuck. He'’s so disgusting. No — thank — you. I
would rather stay home and wash my hair.

CnoBapb

1| TAHIBI

Mp! OBUIH HA TAHLIAX.

dance (social event)

(Note that the noun is always plural in Russian.)

5 | x0Tk

if only; at a minimum; at the very least

5 | Bpéms oT BpéMeHH

from time to time

9 | myOmuka group of people
13 1y yuck
13 | ger yx (very emphatic) no

14 | nyumie + future verb (often perfective)

would rather

15 | {moi+ / MBIt} // O- TOSIOBY

wash your hair (French also uses the noun Zead in this
context.)
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pammaTuka 68-1 ypok

68.A  Hé- Constructions: There is no one / nowhere / nothing...

Russian has a special construction in which you can express the fact that there does (or does not) exist: 1) a
subject to perform an action or; 2) an object on which (or reason why, or time to, or person with whom) to
perform an action. We actually saw this construction in the very first lesson in SLA101: Mue nékorna / have no
time / There is no time (in which I can anything), but we have never explained it — until now.

68.A.1 Hé- Constructions: Absence of Subject or Object (or Time/Place/Reason, etc.)

The Hé- element consists of stressed ué- followed by a question word. If a prepositional phrase is involved, the
preposition comes between Hé and the complement (exactly like mm + preposition + complement). Try not to
confuse Hé- constructions, which stress the existence (or lack thereof) of a person, place, thing, etc., with Hu-
words, which we discussed previously, and which are part of simple negation. Here are the most common né-
words:

Héuero, Héuemy, Hédem™* there is nothing to...

HErIe there is no place to...

HEKOTIa there is no time fto...

HEKOTO0, HEKOMY * there is no one fto...

HE C KEM there is no one with whom fto...
HEé3aYeM there is nothing to be gained by...
Hé](y)la there is no place to go to...

HE 0 yeM (no stress on qu) there is nothing about which to...
HE 0 KOM there is no one about whom to...

*Notice that Héuto and HékTo do not exist (in this list — they do exist, but with a completely different meaning).

The syntax of these Hé- constructions is as follows (be sure to read over these examples carefully):

(1) (2) 3)

‘Logical subject’ | Hé- word indicating absence | Infinitive (+ rest

in Dative of (in)direct object, place, etc. of sentence)
Mamue HEUero eCTb. There is nothing for me to eat.
Ham HErJIe CIIATE. There is nowhere for us to sleep.
Hrine HEUEeM IMUCATD. Nina has nothing to write with.
Boprcy HEKOTIa UTPATH B TEHHHC. Boris has no time to play tennis.
Eit HEKyA UITH. She has no place to go.
M HE3aYeM 3aHUMATbHCS. They have nothing to gain by studying.

Note that the né- word is the only negative element in these sentences, as opposed to basic negation, which
requires HH-...(HH-)....He, Which we saw has multiple negation.
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68-1 ypok pammaTtumka
___________________________________________________________________________________________________________________________]
The “subject” in dative can be omitted. Such subjectless sentences can either be general statements (about no one

in particular), or, if it is clear from the context, they can refer to specific, unnnamed person, as seen in the last
example below:

B 3ToMm marasnHe HEYETO KYITUTD. There’s nothing to buy in this store.

Tam Hérae cuaérsb. There’s no place to sit there.

Hézauem paboTath. There’s nothing to gained by working.

Héxomy 3anate 3ToT Bompoc. There’s no one whom (we) can ask that question.

g@ MepeBennTe Ha pycckui

1. T have nothing to write with. 2. He has no time to write.

3. We have no place to write. 4. They have nothing to gain by writing that
letter.

5. There is nothing for her to buy. 6. There is no place for you (sing.) to write to.

7. There is nothing to eat in the kitchen. 8. There is nothing to be gained by working out.

The case of the né- element is determined by the verb (which follows) or preposition (which precedes). So, ifa
verb takes genitive, the form will be néuero / Hékoro; if the verb requires the preposition ¢ + instrumental, the
form will be Hé ¢ kem / Hé ¢ yeM, etc.

Te6é HEUETO (Gen from Gostees) | OOSTHCS. There is nothing for you to be afraid of.
Téue HE ¢ KeM (Instr from c) TaHIIEBATD. Tanya has no one to dance with.
Emy HEKOMY (Dat from nomous) | TOMOYb. There is no one for him to help.

Note that even 1uém loses its stress in a Hé- construction:

Ham Hé 0 ueM CIUIETHUYATD. We have nothing to gossip about.

@ MNepeBeanTe Ha pycckun

I have nothing to eat with. (Think!) I have no one to hang out with.

We have no one to gossip about. Vera has no place to sleep.

There is no place for us to go to. Vadik has nothing to gain by working.

N =
e

They have nothing to ask about. There is no one here to envy.
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pammaTuka 68-1 ypok
___________________________________________________________________________________________________________________________]

68.A.2 Negating the Subject: Héxomy + Infinitive (There is no one who can...)

You can also negate the subject (in the dative), which gives the meaning There is no one to [verb], There does not
exist a person to [Verb]. In this case slot (2) is normally empty.

Héxomy XXXXXX | OTKPBITH JBEPS. There is no one to open the door.

HéKOMy XXXXXX | rorOBUTE 00&1 1S HAC. There is no one to make dinner for us.

In a sentence with Hékomy plus a verb that takes dative, there is potential ambiguity:

Héxomy npogéccopy IOMOUD. There is no one to help the professor.
or

There is no one for the professor to help.

The first meaning (lack of a person to perform the act) is much more common, though there is nothing to rule out
the second possibility. Normally the meaning is clear from context.

Note what has more or less become a fixed expression:

Héuero nénate. (/Iénarp HéUeTO.) There’s nothing that can be done.

% MepeBeanTe Ha pyccKuii

1. There is no one to open the door. 2. There is nothing that can be done.

3. There is no one to help me. 4. There is no one here for me to help.

5. There is no one to catch fish. 6. There is no one for the nasty boy to spy on.
68.A.3 Hé- Constructions in the Past and Future

In the present, no conjugated verb is found, only the infinitive. In the past and the future, the default 3™ singular
neuter OBLIIO Or OyIeT appears after the Hé- word:

MkHe Héuero ObLI0 eCTh. There was nothing for me to eat.

Ham néuero 6yaer ects. There won't be anything for us to eat.

Eit Hé Ha yeMm OBLIO CIaTh. There was nothing for her to sleep on.

WM Hé Ha YeM OyAeT craTh. There won't be anything for them to sleep on.
Bope uézauem 0BL10 3aHUMATHCS. There was no reason for Borya to study.
Héne nésauem 0yaeT 3aHUMATHCS. There won't be any reason for Nadya to study.
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68-1 ypok pammaTtumka

% MepeBennTe Ha pyccKui

1. He had no time to wash his hair. 2. He won’t have the time to wash his hair.

3. There wasn’t anything to laugh about. 4. There won’t be anything to drink.

5. There won’t be anyone to hang out with. 6. There wasn’t anyone to hang the picture.

68.6 EcTb (Bbino / ByneT): There is someone / something...

Positive statements: éctb, 6bIno, 6yger

The opposite of these Hé- constructions contain stressed écth (present tense) 0bL10 (past) or 6yaet (future).
Some examples:

(1) (2) (3) (4)
Dative ecTb Question Infinitive
(6bIno0, word /
oyaer) phrase
Mmue écTh 4eM MMMCATH 1 do have something to write with.
Ei oyaer C KEM TaHIIEBATH She will have someone to dance with.
Ham OBLII0 0 yém* TOBOPUTH We did have something to talk about.

*Note that in theses affirmative sentences, 4éMm is stressed (as opposed to HE 0 wem, where stress moves to the HE).

You can also stress that there is someone to perform an action. In this case écTb (0BLJIO / 6ymeT) must precede the
dative “subject” komy:

EcTb KOMY OTKPBITH JBEPb. There is someone to open the door.

BBL10 KOMY TOCTPOUTH JIOM. There was someone to build the house.

Byner koMY MOJHATH YEMOJIAH. There will be someone to lift the suitcase.

Compare the word order of non-present tense Hé- constructions (where the verb be must follow the né- word) to
that of écTb constructions (where the verb be must precede the question word).

Negative (Hé-question word > be) Positive (be > question word)

(To be honest, there is some flexibility in word order for both of these constructions, but it’s best to follow the

Maue Héyero OBUIO YATATE.

MaHue OBUIO YTO YHUTATE.

Hawm ué 0 uem Oyner ToBOpHUTH.

Hawm 6yzner o 4éM roBOpiTh.

HéxoMy OBLIO OTKPBITH ABEPb.

BE10 KOMY OTKPBITH JBEPD.

guidelines we give above.)
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pammaTuka 68-1 ypok

% MepeBeanTe Ha pycckui

1. Ido have someone to dance with. She does have something to write with.

You (sing) did have a place to sleep. There will be someone to open the door.

We will have a place to go. There is someone to help them.

N W
e

Sasha did have something to say. Masha does have something to ask him about.

68.B  Hé-/ Ectb Constructions vs. ‘Regular’ Negation / Affirmation

We should first note that these Hé- / écThb constructions are very common, in both the written and oral language.
In some cases, however, it is possible to express more or less the same idea of negation / affirmation with
‘regular’ negation (or affirmation), though, as we’ll see, some rather intricate sentences are required. Instead of
Hé- or écTh you would overtly state the noun that is implied in the Hé- / écThb construction. In general, Russians
strongly prefer né- / éctb constructions. Here are pairs of (roughly) equivalent sentences:

Hé- / EcTb constructions ‘Regular’ Negation / Affirmation
Emy nékorma 3aHUMATEHCS VY Herd HeT BpEMEHU 3aHUMATHCS
Hawm uérne criats. Het mécra, riae Ml MOKEM CIIATh.
MHe HéYeM IHCATS. VY MeHs HeT KapaHaama (py4Kkn), KOTOPEIM

(KOTOPOIi) 51 MOTY ITHCATH.

Taue OBUIO HE C KEM O0LIATHCS. H¢é 6110 1018, ¢ KOTOpHIMU TaHS MOTIIA
00IATECS.
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68A-11 ypok JdomaluHee 3apaHne

25 YnpaxHéHue 1: Think of a reason the action can’t be performed. Use a different Hé- word ine
sentence.

1. Bops crur.

2. M numy nuceMo.

3. M nucén miaceMa. (A4 different reason than above.)

4. Ounn OyayT pabOTaTh KAXKIBIH ICHD.

5. Mai er6 younmu.

6. Sl 3aHUMAIOCH PYCCKUM SI3BIKOM.
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68-i ypok — [lomalwiHee 3agaHue Nma

25 YnpaxHéHue 2 For two of the above, contradict the negative. (Make sure the tense is the san
as in the original sentence.)

2< YnpaxHéHue 3 MNepeseanTe Ha pycckun

1. He would rather stay home and watch TV.

2. How often do you wash your hair?

3. - Do you want to go (Perfective) to the dance with me? - No — thank — you!

68-8



